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Eighth IMA International Mathenmatics Contest (Singapore), 2012
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1. What is the 2012" number in the series of natural numbers, 1, 8, 15, 22,

29, 36,---7?
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. As shown in Fig. 2, the sum of the numbers which | ® 3

are filled in any of three neighboring blanks is 20.
What is the sum of x and y?
A.6 B.9 C.12 D. 15
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. What is the simplified value of
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0.1x0.2 0.2x0.3 0.3x0.4 0.7x0.8
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in Fig.4), every different letter stands for a different
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digit from 0 ~ 9. What does the three-digit number 10 O

[(JJe 1 M

IMC represent?
Fig.4

12.8 % 13 100 %55 100 ¥ » B F 4 - > 5 - S %H5hE 3
R EAER - ZBM o % k%R S kBl - B

Mo 7R R R F il ¥ -

13. (4] 5)= #2585 1 ~ 11 ~ M2 o 3
EOETEF R ¥ v 2 v A= A &M
N~ Q ik P 7 e chgaif 559 (B & v 3%

WER AT e ) o g TR R & 400 = % o

Baf T & 5 600 2 ¢ > gasf ek & 5 900 H 5
N% o ®E | pEEg 5 2 A& s 55 22 > 5 & PFEg 6.6
D2 B P2 AKIED Y- XY P AT T ) PE o

14.7 BREF A LT - thsih > £ @5 4104 > & L B4 L 7 4p
o (R B dcR ) RAarig 20 @A BF ek 85 90 A o PR E A
EMheE T $5E A3 0E &

IMC EFE R s e P 5 AL E
F3H



1.5 A& & 03 2 chide it & & - B 2o flde > (K% 8 1)
fh) 0 W eheh B /SR 200 24 0 pE S E B0 24 o B F HE gk

_—

v 2% o (723140 FEHEBEETA 2] &)

16.F 413 A T4 > 3B KT o4y b ) sk o
BE B IR 53 E BATKT F 557 (oW 6 é!}

M-

R
3 7 #c8538) » LA KT KT T Adws 0 B IRW
B g MG R o B S 3 - TR - & 6
BV G B e ml(F A TR A R el

z2_Fe-] #+ 10) o

173 BokFF T 0 4o r - RRKE > BRERT 3% 0~ 4o kR
Servits o BORERR ED] 20 0 PRAR b r AR 5 Akt Bk

IMC EFE R s e P 5 AL E
F4H



IMC EFE R s e P 5 AL E
F5H



2012 EFEN\NBXEHRBEBSE
W | 1 | 2 3 4 5
% | B | C C A A C
we | 7 | 8 9 10 1
A5 7 12 ’
= | D | B 0% | @111-111)x(1+1) +11+1=2012 | 625
we | 12 | 13 14 15 16
% 59 6 78 > 56 9524.67 609
17. % 1.5 (%7 ' EREZ &40477T7)
2
102 ®
3
Na/?
@
18. fa :

d 39 sz Bk 5 PRAE- CF=2CD=2x5=10 = 2 > EC=FB=
10+(1.5-1)=20 = 2 »CB=30 2> 2 » #711 AE=54-20-30=4 2> 2 >
m e AE T * 8448 TR R G 4+%:30;}2/B$ C P

@B L 30x1.5=45 2 B /pE o ¥ 1 g B L 45 o1 /pE

A C

F B
< 2]

IMC EFE R s e P 5 AL E
F6H




